POWERS AND ROOTS
Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

1.

11 (2} Find the value of 381 = 10F

() Find the vahe of 64

i

(e} Wrte 2

= as a power of 3
pr=

{Total for Question 11 is 6 marks)

Pearson Edexcel - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier

2.



1
12 Patrick has to work out the exact value of 644
Patrick says.
1 !
“1 of 64 is 16 s0 642 = 167
Explain what is wrong with what Patrick says.

({Total for Question 12 is | mark)

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

3.
) 16%
14 (a) Work out the value of _l
&
| - 1
= = PF=9.3 3 = -
0 b T

{b) Work out the valwe of a+&+¢

{Total for Question 14 is 4 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

4,



b | =

9 (a) Wrte down the value of 36

(b} Write down the value of 23*

(&) Waork out the value 4::1'2]'_’-

{Total for Qyuestion 9 is 4 marks)

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

5.

13 'u'-ﬂ JE + u"JR| can be writien in the form av10 where o is an integer.

Find the valae of a.

a=

{Total for Question 13 is 3 marks)



Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier

6.

10 {a) Write down the value of 1002

-
3

(b) Find the value of 125

(Total for Question 10 is 3 marks)

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

7.

1
12 {a) Find the value of 13

(b) Find the value of {ﬂ]l
125

(Total for Question 12 is 4 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

8.



14 D is directly proportional to the cube of n.
Mary says that when » 15 doubled, the value of I 15 multrplied by &

Mary 15 wTong.

Explain why

{Total for Question 14 is 1 mark)

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

9.

16 (i) Find the value of 3.2 x 10"

3
(11} Find the +alue of 104
Give vour answer correct to 1 decimal place.

(Total for Question 16 iz 2 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

10.

11 Write down the value of 125°

{ Total for Chuestion 11 is 1 mark)



Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier

11.

18. (a)}) Write down the value of 2¢

(1)
1
4
(b Write down the value of y.

W=

(1)
1
{c) Work out the value of 9 2

(2)

(Total 4 marks)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

12.



}4. Find the value of

(@ &

(i) 647

(i) [%] ‘

(Total 4 marks)

Pearson Edexcel - Thursday 5 November 2009 - Paper 3 (Non-Calculator) Higher Tier
13.

14. (a) Write down the value of 5°

{b} Write down the valua of 2-!

(Total 2 marks)

OCR GSCE - Thursday 5 November 2020 — Paper 5 (Non-Calculator) Higher Tier
14.



11 (a) Work out.

1677

(@) s [2]
(b) Simplify.

V63

(B) oo [2]

OCR GSCE — Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier
15.

16 (a) Write v12+ 75 in the form k+/3.

(@) e e [3]
(b) Work out.

16 =

(B) oo [3]



OCR GSCE - Thursday 25 May 2017 — Paper 4 (Calculator) Higher Tier

16.

1 Calculate.

i gl L ace
(@) VA.E 13.5
[h] 4 1 3
(2x10%) + (5% 10°)
(B) oo [2]

OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier

17.

35 .
17 Show that "':?1 can be written as 3=. [3]




OCR GSCE — Sample Papers — Paper 6 (Calculator) Higher Tier

18.

2
7 Without using a calculator, show clearly that 64 3 i equal to 16. 2]

AQA GSCE - Tuesday 19 May 2020 - Paper 1 (Non - Calculator) Higher Tier

19.

3 Which one of these is a square number and a cube number?

Circle your answer.
[1 mark]

100 1000 10000 1000000



AQA GSCE - Tuesday 19 May 2020 — Paper 1 (Non - Calculator) Higher Tier

20.

26 (a) Show that % can be written in the form  a+/b  where a and b are integers.
[2 marks]
26 (b)) Workout 2410 x /80 x 418
Give your answer as an integer.
[3 marks]

Answer




AQA GSCE - Tuesday 21 May 2019 - Paper 1 (Non - Calculator) Higher Tier
21.

2
2 Work out the value of [1%]

Circle your answer.

AQA GSCE - Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier
22.

22 Show that (543 - J12)* simplifies to an integer.
[3 marks]

[1 mark]



AQA GSCE — Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier
23.

P!
1 Simplify | 5|
Circle your answer.
[1 mark]
55 5 25° 25°
AQA GSCE - Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier
24,
16 Circle the number that is closest to the value of ~ 29°
[1 mark]
27 000 90 2700 9000
AQA GSCE - Tuesday 6 November 2018 — Paper 1 (Non - Calculator) Higher Tier
25.
-3
17 Work out the exact value of [E |
e
[2 marks]

Answer




AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier
26.

1 Work out 3/64 » 1000

Circle your answer.

[1 mark]
40 80 400 4000
AQA GSCE - Thursday 2 November 2017 - Paper 1 (Non - Calculator) Higher Tier
27.
1 Work out w.l'26 + 6%
Circle your answer.
[1 mark]
10 14 50 100
AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier
28.
\2
3 Circle the expression that is equivalent to { 4q° !
J
[1 mark]

164 "° 164’ 8a"° 8a’



AQA GSCE — Wednesday 8 November 2017 — Paper 3 (Calculator) Higher Tier

29.
6 Show that 268 can be written as the sum of a power of 3 and a square number.
[2 marks]
Answer
AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
30.
2 Which of these values of n makes 2.7 = 1(!” a cube number?
Circle your answer.
[1 mark]
0 1 2 3
AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier
31.
2 Simplify 3% x 3*
Circle the answer.
[1 mark]

33 98 316 916



AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

32.

1 Work out the square root of 100 million.
Circle your answer.

[1 mark]

1000 10 000 100 000 1000 000



